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What are the two speakers talking about? ( )

A. The surroundings of the factories.

B. The pollution in the river.

C. Measures to be taken by the factories.

What can we know from the conversation? ( )

A. Their salary will be increased to 300 yuan on the average.
B. The prices of consumer goods are rising greatly.

C. Both of them are satisfied with the increased salary.
Which number should the man call? ( )

A. 00441632451275.

B. 00401632451275.

C. 01632451275.

What does the man want to do? ( )

A. To repair the lady’s washing machine.

B. To bring the lady a new washing machine.

C. To wash his clothes with the lady’s washing machine.
Which aspect of the play does the woman like? ( )
A. The plot.

B. The music.

C. The dialogue.
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6 Who is the woman? ( )

A. An air hostess.
B. A policewoman.

C. A clerk in an airline company.

7  Where does the man probably stay now? ( )
A. In Seattle. B. In New York. C. In Hong Kong.
8 What do we know about the man? ( )

A. He is going to Bologna.
B. He lost his suitcase 4 weeks ago.

C. His suitcase may be in Italy now.

W il —BorHE , IS 9 B 11 A/, -
9 How much money does the man want to borrow? ( )

A. Ten dollars. B. Twenty dollars. C. Thirty dollars.
10 What is the possible relationship between the speakers? ( )

A. Brother and sister. B. Friends. C. Colleague.
11  What does Sarah think of Lisa? ( )

A. She’s a beautiful girl. B. She’s a lazy girl. C. She’s a bad girl.

Wy i — B, IS 12 55 14 =4V
12 Where is the man going? ( )

A. To Zhengda supermarket.

B. To the seaside.

C. To the swimming pool.

13  What does the man want to buy? ( )
A. Fruits. B. Food and Vegetables. C. A swimming suit.
14 How is the woman going there? ( )
A. By car. B. By bus. C. By taxi.
Wr T ol — BRI , NI 15 £55 17 AL
15 Where does the man get the information? ( )

A. From a news report.

4 EFEEWHRER - S5 (ZEE)



B. From a medical class.
C. From a scientific study.
16 What is the woman’s opinion about the statistic? ( )
A. She thinks the statistic is accurate.
B. She believes the statistic is related to scientific studies.
C. She believes the statistic is easy to cause a misunderstanding.
17 What are the speakers talking about? ( )
A. How much coffee they should drink.
B. How to drink coffee in a proper way.
C. Whether drinking coffee does harm to health.
WY B i —BMe , AL 18 F45 20 =A/DhRE,
18 When did the donations to Zhouqu begin? ( )

A. August 7. B. August 8. C. August 16.
19 How much has the Ningxing Property donated? ( )
A. 600, 000 yuan. B. 700,000 yuan. C. 800, 000 yuan.

20 Why did Clause donate money to the Red Cross? ( )
A. Because he thinks the mudslide victims are poor and he wants to help them.
B. Because he has been treated well in China and he wants to show his gratefulness for
China.
C. Because he wants to arouse concern of other people and hopes everyone can

contribute their love.

Model Test1 5
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What is Jack excited for? ( )

A. Seeing Lily again.

B. Moving into a new flat.

C. The doubled price of his flat.

What do we learn from this conversation? ( )

A. The weatherman is usually exact in his forecast.

B. The weatherman is usually not exact in his forecast.
C. It will be raining all day.

What’s going on with the woman? ( )

A. She is writing to her parents.

B. She is visiting the city.

C. She is looking for a job.

Where does the conversation take place? ( )

A. At the train station.

B. At the bus stop.

C. At the airport.

What do scientists think of the advertisements on TV? (
A. It’s a waste of time to advertise on TV.

B. They are boring.

C. They are good for our eyes.

6 ZHTIEIEYT ISR - 5B (EE)
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6

What happened to the man? ( )
A. He has some trouble with the teeth.
B. He was hurt by a needle.

C. He has a cold.

How many packets of medicine should the man take a day? ( )
A. 1. B. 3. C. 4.
How should the man take the painkillers? ( )

A. He should take one tablet when he feels a pain, but not more than once within four
hours.

B. He should take two tablets when he feels a pain, but not more than once within five
hours.

C. He should take one tablet when he feels a pain, but not more than once within five

hours. -

W i —BoWE, A 9 55 11 A/
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11

What is the probable relationship between the two speakers? ( )

A. Friends.

B. Interviewer and Interviewee.

C. Workmates.

When will the woman start working in this company? ( )

A. Right now. B. In one week. C. In two weeks.
Why does the woman choose to work in this company? ( )

A. Because she can get a lot of money.

B. Because she can demonstrate her ability.

C. Because she doesn’t like her present company.

W B ifd—BEHE , DI 12 545 14 A/

12 What is the woman likely to be? ( )
A. A thief. B. A game designer. C. A white-collar.
13  What does the woman want to do? ( )
A. Set up a new farm. B. Buy some vegetables. C. Play games online.

Model Test 2 7



14 What do people desire nowadays? ( )

A. Social contact. B. Loneliness. C. Happiness.
W i B, IS 15 £45 17 =AV/ha.
15 What newspaper does the man prefer to buy? ( )

A. A local evening newspaper.

B. A national weekly newspaper.

C. An international daily newspaper.

16 What section is in the Sunday edition according to the dialogue? ( )
A. Art. B. Sports. C. Business.
17 What news does the woman like best? ( )

A. International news.
B. National news.
C. Local news.
WY R il — B A, A 18 F245 20 =4/,
18 Why had I never viewed those 3D movies before? ( )
A. Because I didn’t think they were worth viewing.
B. Because the glasses were so dull that I hated viewing 3D movies.
C. Because I had some eye condition since young.
19 How are the Dolby 3D glasses? ( )
A. They are cheap paper blue-red glasses.
B. They are heavy but they are comfortable to wear.
C. Once you get used to the glasses, you will feel as if you were right in the scenes.
20 Which one is right according to the passage? ( )
A. It was the first time that I had watched the movie last night.
B. I used to watch movies with those cheap paper blue-red glasses.

C. The movie itself is a work of genius and full of heart.
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What is the woman going to do on Sunday? ( )
A. Go to the art exhibition.

B. Go to the library.

C. Go to a live drama.

Why doesn’t the man ask his boss for a raise? ( )
A. He does his job badly so he doesn’t dare to ask.
B. If he asks for a raise, his boss may fire him.

C. He is satisfied with his pay, so he doesn’t want to do that.
How do the speakers make their conversation? ( )
A. Face to face.

B. By phone.

C. Through short messages.

What are they talking about? ( )

A. Sports.
B. Habit.
C. Football.

What do vou think about Rill’s phvsics? (

A. Good.
B. Better.
C . Poor.

Model Test3 9
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10

6  Why does the man think young people have lost respect for their parents and elders?

¢ )

A. Because young people are given too much expectation and pressure nowadays.

B. Because young people are given too much freedom nowadays.

C. Because the parents and elders fall behind the times.

7  When did the woman become economically independent? ( )

A. When she left school and started to work as a nurse.

B. When she graduated from college and started to work as a doctor.

C. When she graduated from high school and started to work as a nurse.

8 How does the man get along with his parents? (
A. Very well.
B. Not always well.
C. Very badly.

WE T i —BEXT G, 1AL 9 A 11 = A/DEL

9  What did the man do to the woman? ( )
A. The man made the woman fall over.

B. The man stepped on the woman’s foot.

C. The man dropped the woman’s shopping basket.

10 What did the woman ask the man to do? ( )
A. She asked him to forget all the things.
B. She asked him to pay for her losses.
C. She asked him to stand in front of her.

11 Which bus does the man want to take? ( )
A. No. 1 bus. B. No.2 bus.

W B i —BOE, I E S 12 25514 SAV/DhEL

12 What job does the man like? ( )

A. A manager.
B. A scholar.
C. A doctor.

ZREEYT RS - WE(2EE)
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C. No. 3 bus.



13 What is the man’s opinion? ( )
A. Ambition isn’t realistic.
B. Interest isn’t the key to success.
C. Working hard can’t help to be successful sometimes.
14 Where does the woman prefer to work after graduation? (
A. In a hotel.
B. In a law firm.
C. In a government office.
W F i — B S 15 45 17 =4/,
15 What will the man do when he reaches Nanjing? ( )
A. Go home.
B. Do business.
C. Travel around.

16 How much does the man pay? { )

A. 100 yuan.
B. 610 yuan.
C. 310 yuan.

17 Why does the man refuse to take the hard seat? ( )
A. He is eager to go home earlier.

B. He is afraid that his wife will be angry.

C. He wants to take the train comfortably for his back hurts.

U T — B, B 18 45 20 =4/,
18 What did the speaker want to impress the boss? ( )
A. He is the only one that can make the marketing plan.
B. He is the most valuable member of the staff.
C. Lytton is totally worthless.
19  What kind of person is Lytton? ( )
A. Dishonest.
B. Experienced.
C. Clever.
20 What happened to the speaker? ( )
A. He got his plan stolen.
B. He failed in plan-making.

C. He was criticized by the boss.

Model Test3 11
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What are they talking about? ( )
A. Newspapers.

B. Moscow.

C. A forest fire.

How much money did the man spend in Hong Kong? (

A. 3,000 yuan.

B. 4,000 yuan.

C. 6,000 yuan.

What kind of room does the woman accept? (
A. A room with two double beds.

B. A room with one double bed.

C. Two rooms with two double beds.
What color does the man prefer? ( )
A. White.

B. Black.

C. Blue.

Where will the woman stop on her way? (
A. At a roadside stand.

B. At old granny’s home.

C. At a cigarette shop.
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6  Where does this conversation take place? ( )

A. In the garden.
B. In the woman’s home.
C. At an insurance company.
7  Why does the man talk to the woman? ( )
A. To make a damage report.
B. To help her rebuild her house.
C. To show honesty in his business.
8 How many articles were destroyed by the storm? ( )
A. Three. B. Four. C. Five.
W T i — BN, A 9 B 11 =4 E,
9 What did the woman do last weekend? ( )
A. She went for a hike.
B. She went camping.

C. She went to see a film.

10 How does the woman like their activity? ( ‘)

A. So-so. B. Terrible. C. Good.
11 What was the weather like last weekend? ( )

A. Sunny. B. Rainy. C. Stormy.
W T i —BEXHE , A4S 12 $45 14 =0,
12 Where does the man want to go? ( )

A. The Hong Kong Park.
B. The Chinese mainland.

C. The travel agency.

13 Why do people go to the Visa Office rather than the travel agency for a visa? ( )
A. It’s easier. B. It’s cheaper. C. It’s near.
14 How will the man get his visa? ( )

A. With the woman’s help.
B. Through a travel agency.

Model Test4 13



